CHR and The Haven Academy Program Information

Canton Homeschool Resources is the homeschool program we offer for students in kindergarten through 12th grade. Students may take individual classes or join the 2 day hybrid program. Elementary students meet on Tuesday and Thursday and middle and high school hybrid students meet on Monday and Wednesday. Individual class registration will happen after hybrid enrollment occurs and this will not occur until late summer shortly before school start once we know where we will have available individual classes. The schedule of classes will come out later this spring. We will work with students to create schedules through Edsby and/ or email messages.

CHR is accredited as a a non-traditional education center (NTEC) by The Georgia Accreditation Commission (GAC). This accreditation IS accepted by colleges, universities, the HOPE scholarship program, etc. If parents would like to have their homeschool student's transcript accredited, the fee is \$300 per year. We do not see the benefit for transcripts to be accredited prior to receiving high school credits. If your high school student is considering going to public school and taking high school credits with them to do it, you MAY encounter some rejection with NTEC accreditation. If a public school system is accredited by an agency other than GAC, it is up to the schools and districts individually to decide if they will accept the NTEC transcripts at face value. If you want or need transcripts that the public school system will automatically accept, please see Haven academy information below.

If your student is getting a homeschool diploma, is planning on attending a college that is homeschool friendly, is not college bound, or heading to community college or trade school, CHR is a good option for you. Many colleges and universities are homeschool friendly. Please remember to save all work just in case you are asked to present a portfolio if you choose the CHR route.

If there is ANY chance that your high school level student will want to go to a public high school after here, you should do Haven Academy.

The Haven Academy offers a full-time private school accredited option for high school students housed in the same building as CHR. Students attend Monday through Thursday to get the required hours of instruction and have a virtual education day on Friday. The accreditation for this program will be as a private school through the Georgia Accreditation Commission. According to Ga education code 160.1.5.15 part g, #1, "local boards of education shall accept student course credit earned in accredited school". The high school program will meet all requirements for a private school for the 2020-2021 school year. This accreditation is accepted by colleges, universities, and the HOPE scholarship. The cost of accreditation is included in tuition for Haven academy high school students.

If there is <u>any</u> chance that your high school student will attend a public school at some point, we <u>highly</u> recommend you choose The Haven Academy.

The 2 and 4 day CHR program (not the Haven private school program) for elementary, middle, and high school is currently accredited as a NTEC through GAC. The private school accreditation is for high school level courses. High school students may choose the CHR non traditional education center accreditation or no accreditation at all if they do not want or need the private school accredited transcript.

Those students above 9th grade who wish to attend 4 days a week but NOT get an accredited transcript may do so under the CHR registration paperwork.

CHR or The Haven Academy?

High School	CHR	Haven
Accreditation accepted by public high schools	Many	All
Accepted by the HOPE scholarship	Yes	Yes
Accepted by colleges and universities	Yes	Yes
Accredited transcripts are included in tuition	No/ \$300/yr	r Yes
School attendance days	M/W	M-TH
Strict attendance policy	No	No
Homework can be completed at school	No	Yes
May attend field trips, dances, etc	Yes	Yes
Small group tutoring in school hours included	No	Yes
Friday Math lab access included in tuition	Yes	Yes
Friday Academic lab access included in tuition	No	Yes
Accreditation status	NTEC	Private School

Middle School CHR is 2 days standard and 4 days optional. Accreditation is as a NTEC.

Elementary CHR is 2 days standard and 4 days optional. Accreditation is as a NTEC.

Additional Friday classes for kinder-12th grade may be offered at an additional fee.

TUITION RATES FOR CHR/ The Haven Academy **CURRENT STUDENTS** for 2020-2021 REGISTRATION

- 2 day Kindergarten \$3750 or 10 payments of \$375/ month
- 2 day Elementary \$4000 or 10 payments of \$400/ month
- 2 day Middle School \$4150 or 10 payments of \$415/ month
- 2 day High School \$4300 or 10 payments of \$430/month
- 4 day Elementary \$6500 or 10 payments of \$650/month
- 4 day Middle School \$6900 or 10 payments of \$690/ month
- 4 day High School \$7050 or 10 payments of \$705/ month

TUITION RATES FOR CHR / The Haven Academy NEW STUDENTS for 2020-2021 REGISTRATION

- 2 day Kindergarten \$3750 or 10 payments of \$375/ month
- 2 day Elementary \$4500 or 10 payments of \$450/ month
- 2 day Middle School \$4750 or 10 payments of \$475/ month
- 2 day High School \$5050 or 10 payments of \$505/month
- 4 day Elementary \$7000 or 10 payments of \$700/month
- 4 day Middle School \$7500 or 10 payments of \$750/ month
- 4 day High School \$7800 or 10 payments of \$780/ month